
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 ستة من العشرة 

 اثني عشر وخمسة وستون من المئة

ثلاثة وواحد وتسعون من العشرة  
 آلاف 

 خمسة وعشرون من المئة 

https://hulul.online/
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https://hulul.online/


 

 

 
 

 

 

 

 

 
 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

    

   67.13 

 +31.70 

  98.83 

        10  11   10     

   51.20 
- 12.94 
  38.26 

 السعة التخزینیة الباقیة= 

              16    4      

   5.65 
- 1.75 
  3.90 

https://hulul.online/

